15/5/2010		Carles and	83 1 1125 ² LKK:	
INS. CASE OWNER	CC /AIC	G1901 0371 /	IDAC:	
Surveyor:	MArlwy DOI:	ASSIGNMENT	Date / Time :	1 .
Pre-assign / CCU Insured Vehicle No Name of Insured Insured Tel No. Excess Sec II :S\$	1 SKX 3505 J.	Claim No. Policy No. Make / Model Place of Accide	b) = = 10-1 114.004	5
Is driver the owner If NO , Driver Nan Driver Tel	ne / Age :	OI GIA REPOI	RT: YES / NO ; TP GIA REPORT: YES / No y: % Final ? Yes / No	NO
SME 549=	1	→		
INSRS: WSP: Tel: Liability: RMKS:	INSRS: WSP: Tel: Liability: RMKS:	INSRS: WSP: Tel: Liability: RMKS:	INSRS: WSP: Tel: Liability: RMKS:	
Date/ Time				
cl.l.	skynnog - Mrthytaons	flux on: 17(4)	STAGE DATE / I Non-Reporting ltr (1st): Non-Reporting ltr (2nd): Non-Reporting ltr (Final): Notification ltr (if non-pickup):	PIC
8/1/8	FILE PASS TO TYPE MANDATE		Call OI: After call ltr to OI:	
2/4/200	FILE PAY TO LIST TO CLOSH,		Documentation Check List: Handler Typ Notification Itr (if non-pickup) After call Itr to OI: Authorisation To Act: Release Voucher: Final Repair Bill: Car Rental Invoice:	ist
			Towing Invoice LTA / GIA: Medical Bill: PIR: Mandate/Reject Instruction: LOD	
			Payment Breakdown Form:	
PRELIMINARY ADVICE	Date/Time; Sent By:		Post-Repair Photos:	
FINALIZATION	Date/Time: Confirm	with:	Others: Confirm by:	
Repair Cost:	S\$ (days) Reductio		Email Call	
Final Liability: Repair Cost: (~(L))	Date/Time: 44/20 Confirm with Sha % 100 (Agreed / Assessed) BOLA S/ S\$ 1979500	ying N 140.:28	Email Cal If NO or B 28, Ass. Lia: 0% 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4	
Loss of Rental (LOR):	S\$ 1200.00 (10 days) x\$120	,		
Loss of Use (LOU): Loss of Income (LOI): LOR only LOU only	S\$ - (\$ x days) S\$ - (\$ x days) LOR + LOU LOR + LO	[Tick only one]	COPY SENT	
GIA/LTA Search Medical: Disbursement:	S\$ - S\$ - (e.g. Tow	// Independent)	Claim status: Normal/Reject/Private Sett Report Format: 1/	le
Legal Cost	S\$ -		3) Survey fee: \$320	
	S\$ 20995.00 Global Sum S\$:			
Payee 1:		h Auto Pte Ltd	Email Cal	
	S\$ Name 2: S\$ Name 3:	20		

hith:

FASTECH AUTO PTE LTD

1 Kaki Bukit Ave 6 #01-48 Autobay

Singapore 417883

Tel No: 67452063 / 67467158 Fax No: 67458520

Tax Reg No: 20-0006262-D

Not Authorist 18/11/19 1/5 \$ 18,500/

QTY	List Price: SMG 5497L	Prices \$
1	Rear boot lid 645. W	m/suc 1253.20
1	Rear boot emblem " H "	1 ac 36.70 L
1	Rear boot emblem " CIVIC "	M 32.70
1	Rear boot emblem " I-VTEC "	Nu 31.50
1	Rear boot outer garnish	11 385.20 X
1	Rear boot outer opening switch	11 235.20 X
2	Rear boot lamps- R/L @ 465.00 280.50	0/5 cm 930.00 (PC
2	Rear boot licence lamps @ 42.20	11 84.40 X
1	Rear boot inner lock /97.50	In 325.00
1	Rear boot inner trim	11 485.20 X
10	Rear boot inner trim clips @ 4.50	11 45.00 X
1	Rear boot lock striker	11 85.20 X
2	Rear boot hinges- R/L @ 86.50	173.00 X
2	Rear boot hinges cover- R/L @ 51.50	17 103.00 🗶
1	Rear boot w/strip /Pf- 20	Tui 312.20
1	Rear boot lock cable	11 185.20 ×
1	Rear bumper 654.00	7.5 1023.20
4	Rear bumper PDC sensor @ 261.50	11 1046.00 X
1	Rear bumper PDC sensor wire	1 ~ 241.60 X
2	Rear bumper Mudflep - R/L @ 189.60 /25.50	0 (5 70-n 379.20 LDC
2	Rear bumper reflector- R/L @ 48.60	NS 97.20 X
10	Rear bumper clips @ 4.50 35.00	M 45.00
2	Rear bumper side brackets- R/L @ 45.00	0/SCN 90.00 17C
2	Rear bumper side retainers- R/L @ 68.60	137.20 ipc
1	Rear bumper difusser	NZ 485.20 V
1	Rear bumper reinforcement	€ 651.20 ×
1	Rear end panel 389.20	Bedson 725.00
1	Rear end panel garnish	13/ 295.60
1	Rear exhaust silencer W chrone	Bel 958.20
1	Rear exhaust insulator	156.30 ⊘
2	Rear exhaust mountings @ 42.20	84.40 X
1	Rear centre exhaust pipe	202 12 1185.60 Q

2	Rear centre exhaust mountings @ 42.20	11 84.40 X
1	Rear floor board 3/6.00	mp/100 495.00
1	Rear floor tools tray	
1	Rear floor panel assy	190.60 X 1585.00 X
1 Set	Rear windscreen moulding /2/-50	1505.00
2		
2	Rear fenders- R/L @ 1335.60 97/-/0	alled alex
2	Rear fender 1/4 galss with moulding- R/L @ 445.00	
2	Rear fender inner trims- R/L @ 480.60 3LL.00	/s2
10	Rear fender inner trim clips @ 5.50	
2	Rear fender inner shields- R/L @ 181.50	J
10	Rear fender inner shield clips @ 4.50	11 363.00 X 11 45.00 X
2	Rear fender air vent @ 68.50	45.00
1	Rear fender inner panel- LH	257.00
1	Rear fender wheel housing- LH	250.00 %
1	Rear fuel lid	
1	Rear fuel opener	17 195.20 X
1	Rear door- LH	1133.50 X
1	Rear door inner lock	11 1132.50 X
1	Rear door w/strip	395.60 🗶
1	Rear door inner board	301.20 K
2	Rear shock absorber- R/L @ 481.60	17 895.50 X
2	Rear top arm- R/L @ 441.50	11 963.20 🗶
2	Rear lower arm- R/L @ 565.50	11 883.00 ×
2	Rear knuckle arm- R/L @ 635.00	1121.00 ×
2	Rear wheel hub with bearing- R/L @ 285.00	11 1270.00 メ 11 570.00 メ
1	Rear anti roll bar	A
2	Rear anti roll bar link- R/L @ 89.50	.03.200
1	Rear axle carrier	17 SPANISH NOT THE TAX
1	Rear side chassis member-RH	1985.20 🗡
1	Front bonnet \$95.30	1150.00 ×
1	Front bonnet lock /66.50	Buc 1102.20 Tui 235.20
1	Front bonnet lock cable	11 115.90 X
1	Front bonnet rubber	113.90 X
1	Front bonnet insulator	Delney 2 235.20
10	Front bonner insulator clips @ 5.50 35.00	M 55.00
2	Front bonnet hinges- R/L @ 55.00	3 110.00 —
1	Front bonnet stand	89.60 X
1	Front bonnet stand clip	パペ 89.60 X 12.60 X
1	Front grille 3 45-50	C/4 658.00
1	Front grille chrome moulding	CNQ 315.20
1	Front grille logo 202	Ne 65.20
		03.207

f548.4

3			
1	Front fog lamp als	(re 314.50)	
1	Front bumper 665.00	ر 1025.30 کرون	
1	Front bumper CTR grille	71-1 258.50	
2	Front bumper side grille- R/L @ 68.60	11 137.20 X	
1	Front bumper lieure place gornish 105.50	70in 315.60	
1	Front bumper reinforcement 39240	By 651.20	
2	Front bumper side retainers- R/L @ 42.20	BN 84.40	
10	Front bumper clips @ 4.50	Ne 45.00 V	
2	Front headlamps- R/L @ 1895.50 /820 x 2 - 3640 /	Sera Ulsas 3791.00	
2	Front headlamp top mouldings- R/L @ 131.20	WJ 262.40 X	
	Front headlamp lower brackets. •(5	3ul 97.20	
2	Front fenders- R/L @ 681.60	1 Rals Buc 1363.20 LPC	
2	Front fender signal lamps- R/L @ 86.60	NS 173.20 X	
2	Front fender inner shields- R/L @ 154.10	70m 308.20 /	
30	Front fender inner shield clips- R/L @ 5.50 40.00	165.00	
1	Front support top garnish	706n 195.20	
10	Front support top garnish clips @ 4.50	45.00 X	
<i>></i> 1	Front support panel assy 625-50	Sel 956.30	
2	Horn @ 86.50	173.00 X	
1	Air con condenser	Buf/zun 1225.60	
1	Air con discharge pipe	sed 362.60	
1	Air con suction pipe	n 1 315.50 ×	
1	Air liquid pipe	17 241.20 X	
1	Air cleaner intake duct	11 126.20 X	
1	Air cleaner box assy	17 285.50 0	
1	Radiator assy	By (c/u 1485.60	
1	Radiator top hose	11 42.60 X	
2	Radiator top mountings @ 18.20	1M 36.40	
1	Radiator bottom hose	17 58.60 X	
1 Set	Radiator electrical fan assy	CN /J~963.00	
1	Radiator spare tank	17 89.90 X	
2	Front Grace ANV side garnish- R/L @ 68.50	15 70m 137.00 PC	
1	Front support panel top seal	NS 126.20 X	
2	Rear taillamps- R/L @ 631.60 3 40.50	0/5510 1263.20/1C	
2	Rear taillamp panels- R/L @ 132.60	015sel 265.20 1/C	
l	ABS pump. ossy 3650 cne delo	55401.30	2294).8
	Less	s 20% <u>11080.26</u>	1. C.711.04
		Subtotal 44321.04	(h 27-
50			
	Special Nett Items:	1/.0	
1 Set	Rear windscreen sealant	nu 100.00 40	
1 Set	Rear no plate	un 60.00 ×	
1 Set	Rear floor panel sound insulator	1 n 250.00 ×	
1	Rear reverse camera	a ↑ 650.00 ×	
1	Rear tyre- of S	11 350.00 X	
	· · · · · · · · · · · · · · · · · · ·		

	3 2 5		
1 Set	Rear fender 1/4 glass sealant	21	120.00 🗶
1 Set	Front no plate	ROA-F	60.00 40
1 bot	Air con oil		85.00 30
1 bot	Radiator coolant	N	
		Subtotal	1775.00
	Labour Charges:		
	Towing charges		180.00 50
	To remove, refix R/windscreen and 1/4 glass-		450.00 /2,0
	To remove, refix R/undercarriage	11	. •
	To check wheel alignment	11	
	To checking F/R electrical wiring		150.00 30
	To remove, refix R/interior trims to assist repair		200.00 80
	To remove, refix fuel tank to assist repair		250.00 60
	To remove, refix A/C condenser and refill A/C gas		150.00 /01
	To respray undercoating		250.00 /50
	To remove, refix rear exhasut systems		180.00 80
	To respray painting and etc		3500.00 2 400
	Panel beating, cut, weld, remove and replacing above part	:S	4500.00 2000
			0510.00
		Subtotal 1	00.01

ESTIMATE PARTS AND LABOUR GRAND TOTAL \$

56606.04 59526.04 2 2 245 WY 18836.

LKK Auto Consultants hence notify the Repairer of the following: To resurvey before/after spray painting To display gamaged part(s) during resurvey
 Parts prices are subject to confirmation * Thru party survey is on a "Without Prejudice" basis No if egal modification(s) is allowed. Supplementary item(s) must be resurveyed and is subject to final approval from Insurance Company Acknowledged by Repairer

> Back to OneMotoring

Enquire PARF/COE Rebate for Registered Vehicle

Owner ID Type:	Singapore NRIC		
Owner ID: Vehicle Details	9211		
Vehicle No.:	SME5497L		
Vehicle to be Exported:	No		
Intended Deregistration Date:	20 Nov 2019		
Vehicle Make:	HONDA		
Vehicle Model:	CIVIC 2.0L 5AT		
Primary Colour:	White		
Manufacturing Year:	2008		
Engine No.:	K20Z24500809		
Chassis No.:	JHMFD26409S200809		
Maximum Power Output:	114.0 kW (152 bhp)		
Open Market Value:	\$29,259.00		
Original Registration Date:	21 Jan 2009		
First Registration Date:	21 Jan 2009		
Transfer Count:	4		
Actual ARF Paid: Intended PARF Rebate Details	\$29,259.00		
PARF Eligibility:	Forfeited -		
PARF Eligibility Expiry Date:			
PARF Rebate Amount: Intended COE Rebate Details	\$0.00		
COE Expiry Date:	20 Jan 2024		
COE Category:	B - Car (1601cc & above)		
COE Period(Years):	5		
PQP Paid:	\$15,668.00		
COE Rebate Amount:	\$13,056.00		
Total Rebate Amount: Message	\$13,056.00		
Please note that the 5-year COE for this vehi	cle cannot be further renewed. The vehicle hen the vehicle reaches its statutory lifespan (if		

The information contained herein is correct as at 18 Nov 2019

SGCARMART.COM

Login Sign up

New Cars

Used Cars

Sell My Car

Directory

Products

Insurance

Articles

Forum

Resources

Civic 2.0A

Price Range

Depreciation V 2009

2009 🗸

Vehicle Type

Мар

Submit (

Advanced Search

Home » Used Cars » Victory Cars Trading Pte Ltd » Honda Civic 2.0A Si (COE till 05/2024)

Honda Civic 2.0A Si (COE till 05/2024)

1,312 kg

Mid-Sized Sedan

Overview	Financial	Insurance	Accessories	Similar	Research	Photos
Price	\$41,800					
Depreciation	\$9,210 /yı		Reg Date		25-Aug-2009 (4yrs 6mths 13days	COE left)
Mileage	90,000 km	(8.8k /yr)	Manufact	tured 🕕	2008	
Road Tax	\$1,210 /yr	•	Transmis	ssion	Auto	
Dereg Value	\$17,950 a	s of today (chan	ge) OMV		\$27,684	
COE	\$19,782		ARF		\$27,684	
Engine Cap	1,998 cc		Power		114.0 kW (152 bhp)	

Features

Curb Weight

Type of Vehicle

Work Late? Call Us For A After Work Hour Appointment. We Will Be Glad To Serve At No Obligations. View specs of the Honda Civic (2006-2012)

No. of Owners

Accessories

Sports Rims, Reverse Sensors, Audio Player, Auto Retractable Side Mirrors And Solar Film.

Description

Powerful K20 Engine, No Repairs Needed, No Gimmicks, In House 6 Months Comprehensive Warranty With 24/7 Breakdown Recovery Service. We Welcome STA Or Pre-Purchase Inspection. Reputable Company With Good Track Records. Call Now For Appointment! We Welcomed Ex Bankruptcy. Best Purchase Experience Guaranteed!

Category

COE Car, Premium Ad Car, Low Mileage Car

Status

Available

Resources



Car Valuation - Free

Find out the market value of your existing car for free. Get started



Vehicle Evaluation

Afraid of lemons? Request to have this car evaluated professionally. Find out more

Posted on: 16-Nov-2019 | Last Updated on: 16-Nov-2019

Upfront Payment Compare

» more Financial info



















Shortlist

Compare

re Add note

Report Error More Actions

Seller Information

Victory Cars Trading Pte Ltd

62 vehicles for sale, 51 sold in past 3 mths

© 65 Ubi Road 1 #04-24 Oxley Bizhub Tel: 63854916 Search cars nearby

....

Ar Lee Mr Tan 86885879

Mr Quek

90999505 90096473

Mr Lim

92470299

SGCARMART.COM

Login Sign up

New Cars

Used Cars

Sell My Car

Directory

Products

Insurance

Articles

Forum

Resources





Nissan NV200

Latest Euro 6 Engine. Immediate Delivery. Comes with 5 yr/130,000km warranty. Ready stocks @ \$56,800.

Civic 2.0A

Price Range

Depreciation V 2009

Vehicle Type

Map

Submit (

Advanced Search

Home » Used Cars » Victory Cars Trading Pte Ltd » Honda Civic 2.0A Si (New 5-yr COE)

Honda Civic 2.0A Si (New 5-yr COE)

Overview	Financial	Insurance	Accessories	Similar	Research	Photos
Price	\$41,800					
Depreciation	\$8,350 /y	r	Reg Date		17-Jun-2009 (5yrs COE left)	
Mileage	81,000 km	1 (7.8k /yr)	Manufact	tured 🔘	2008	
Road Tax	\$1,210 /yı		Transmis	sion	Auto	
Dereg Value	N.A.		ому	ğ	\$27,684	
COE	N.A.		ARF		\$27,684	
Engine Cap	1,998 cc		Power		114.0 kW (152 bhp))

Type of Vehicle

Curb Weight

Mid-Sized Sedan

1.312 kg

Features

Work Late? Call Us For A After Work Hour Appointment. We Will Be Glad To Serve At No Obligations! Call Now! View specs of the Honda Civic (2006-2012)

No. of Owners

Accessories

Sports Rims, Reverse Sensors, Audio Player, Auto Retractable Side Mirrors And Solar Film, VSA, Paddle Shifters, Steering Controls.

Description

Single Owner Low Mileage!Brand New Paintwork And Leather! No Repairs Needed. Comes With 6 Months Warranty By Our In-House Workshop. Free Island Wide Towing In Event Of Emergency. We Provide Loans, Trade In, Insurance And Scrap Services With Flexibility. Kindly Call Us Now For More Information. STA/VICOM/Own Workshop Pre-Purchase Evaluation Welcomed!

Category

COE Car, Premium Ad Car, Low Mileage Car

Status

Available

Resources



Vehicle Evaluation

Afraid of lemons? Request to have this car evaluated professionally. Find out more



Car Valuation - Free

Find out the market value of your existing car for free. Get started

Posted on: 16-Nov-2019 | Last Updated on: 16-Nov-2019













Location Map

Shortlist

Compare

Add note

More Actions

Seller Information

Report Error

Victory Cars Trading Pte Ltd

62 vehicles for sale, 51 sold in past 3 mths

9 65 Ubi Road 1 #04-24 Oxley Bizhub Tel: 63854916

Search cars nearby

2 Mr Quek 90096473 Mr Tan 90999505 Mr Lee 86885879 92470299 Mr I im

View Received Message

This mail is associated with:

*SME5497L (9135694378SG) [SKX3505J]

> CHEE ZHI HAO, TIMOTHY Nov 17 2019 3:00PM [TAN SEI YEONG] Fastech Auto Pte Ltd

Print Message | Delete Message | Forward Reply AIG Asia Pacific Insurance Pte. Ltd. (Express) (AIG_SG_EXPRESS), sent on 26/03/2020 17:21 PM. From To Alert - Adj Mandate Approved (S\$21195.00) - SME5497L - Claim Handler: Ler, Bernard-JQ Subject Approved:21195.00:pls offer \$120/day first for the LOR. **subject to final repair bill & ATA

DOCUMENTS SUMMARY

There are no documents.